5. PBBf#E &%

ERAR Mzttt PBBfE A&
= JALG L—T 84%
=N ANAS JL—T 82%
b JALY IL—T 93%
JE AL ARE—D54¥— 91%
= [ JALY IL—T 100%
& [ ANAY JL—T 100%
& [ RABA—D51¥— 73%
2 [ AhA4<—4 89%
Ri& JALY IL—T 87%
K& ANAS JL—T 99%
Ri& YSLVEIT 85%
BE JALY L—T 99%
X ANAS JL—T 89%
EER YSVRIT 86%
Xy JALY IL—T 89%
PN ANAY JL—T 81%
K& YSLVEIT 93%
= % JALY L—T 64%
=% ANAY JL—T 72%
= % YSVREIT 90%
BERE JALY IL—T 99%
BERE ANAS JL—T 74%
BERE AHAR—4 90%
BERE YSVREIT 89%
ARER JALY IL—T 100%
Eill ANAY JL—T 97%
ARER AHAR—4 96%
Eill YSURIT 56%
=1 JALY IL—T 100%
=1 ANAS JL—T 94%
FaiE JALY IL—T 100%
AR ANAY JL—T 98%

[R2.1]
OFRZEH
R AR fZestt PBB{# HE
2 Al JALY )L—T 67%
il AIRDO 46%
HEJI JALY IL—T 99%
AEJI AIRDO 70%
il |24 JALY IL—T 70%
% ANAZ JL—T 88%
Il 2% AIRDO 94%
id/ JALY IL—T 96%
WA AIRDO 65%
T JALZ JL—T 100%
BT ANAS JL—T 99%
T AIRDO 78%
T AHAR—4 86%
BRIfE JALY L—T 75%
ERIfE ANAY JL—T 77%
BRIfE AIRDO 89%
A JALY IL—T 93%
#HE ANAY JL—T 85%
IR JALY IL—T 88%
NN ANAY JL—T 89%
i &p JALY IL—T 93%
aak:il ANAG JL—T 94%
# JALY IL—T 100%
# ANAY JL—T 100%
EaFic] JALY IL—T 96%
BE P ANAZ JL—T 92%
EaFic] AB—=054¥— 61%
#HE ANAY )L—T 91%
#HE ANAI—Y 89%
fif L JALY IL—T 93%
i Ll ANAY JL—T 91%
LS JALY IL—T 96%
LS ANAY JL—T 88%
EEE JALY L—T 59%
=L ANAY JL—T 88%
EEE RA—D5( Y — 81%
=i JALY )L—T 85%
=i ANAY JL—T 83%
HE JALY IL—T 98%
=] ANAY )L—T 58%
NI JALY L—T 85%
AL ANAY JL—T 97%

OFTHRZEE

BRAR fnZEstt PBBfERE
FH JALGIL—T 100%
FH ANAY JL—T 100%
FH AIRDO 100%
FH AH14=—4 93%

i Rl JALY IL—T 98%

il ANAZ JL—T 77%
=5 JALY IL—T 82%
a5 ANAZ JL—T 72%
A H JALY IL—T 98%
A H ANAZ JL—T 69%
= JALY IL—T 99%
e ANAZ JL—T 94%
= AIRDO 100%
& Peach-Aviation 42%
= FTARYGRIT AR 0%
s JALY IL—T 78%
8 ANAY JL—T 85%
R H JALY L—T 100%
o] ANAY JL—T 99%
BH Peach* Aviation 84%
o] DIV RE— TRy 83%
B H EWMZEAX 94%
th &R JALY IL—T 100%
aak:i ANAS JL—T 95%
ek AIRDO 100%
&8 DIy RB—TwIy 97%
ek ITFT7OT DviNy 52%
&8 ANAI—4 79%
#T JALY IL—T 100%
F£t ANAY IL—T 100%
EaFid] JALY IL—T 100%
EiLid] ANAS JL—T 100%
E3Fic] Peach* Aviation 69%
E3Eic] DIy RB—DwIy 28%
#HE ANAY JL—T 100%
#HE AIRDO 56%
#HE Ah4=—4H 83%
NS JALY IL—T 100%
L5 ANAY JL—T 98%
126 JALY IL—T 100%
12 ANAY JL—T 100%
f&h Peach - Aviation 100%
12 Ah14=R—4H 54%




ORIGZEH#

OflIREE
R AR fZestt PBB{# HE
FIH JALZ JL—T 100%
FIH ANAYS JL—T 100%
FIH AIRDO 100%
OHEEEE
iR finZe &4t PBBERE
FIH JALT IL—T 100%
FH ANAY JL—T 100%
FH AIRDO 100%
aak:il ANAG JL—T 100%
Eaki AIRDO 100%
# JALY IL—T 100%
# ANAY JL—T 100%
OFRZEE
R fize =4t PBB{# AHE
Tt JALT IL—T 100%
T ANAG JL—T 90%
# JALY IL—T 100%
#1 ANAY JL—T 98%
Eibas FARNYGRITSA X 100%
& [ ANAY JL—T 100%
& fif] FARNYGRITSA X 100%
[ 7V NY=LI7F4VR 100%
O/ AZE}
RS Rz stt PBBfERE
FIH JALG IL—T 100%
FH ANAY JL—T 100%
iG] ANAG JL—T 100%
1= FARYIRITSAVR 100%

OLEZEHE
ERER izt PBBERE
FIH JALTIL—T 100%
FHE ANAS JL—T 100%
i JALY JL—T 100%
T ANAS JL—T 100%
K H FARNYYGRITSAU X 100%
A H EMMEAR 100%
OEEXEE
iR fZestt PBBf# 3
FHE JALT )L—T 99%
FH ANAY JL—T 100%
Odt =&
PR fnZEsit PBBfE A%
FIH JALT IL—T 100%
JFH RA—=754¥— 100%
OMZEHE
R &4t PBBERAE
FIHE JALG IL—T 100%
FHE ANAY JL—T 100%
F3 JALY L—T 100%
B ANAY JL—T 34%
OBEHE
BB iz st PBBfE A%
FIH JALT IL—T 100%
FH ANAY JL—T 100%
ORXHN=E;
R4S fZEstt PBBER®E
FIE JALG IL—T 100%
FHE ANAY )L—T 100%
FE YSLRIY 100%
F JALT L—T 99%
# ANAY IL—T 100%
F FARNYHGRITSAV X 16%

BRAR fnZEstt PBBf# A%
FH JALT )L—T 100%
FH ANAY JL—T 100%
FH YSURIF 100%
Eikws JALY IL—T 100%
F£1 ANAY JL—T 100%
OREARZTE
IR fnZestt PBBf# A%
F1H JALG )L—T 100%
FH ANAY JL—T 100%
FH YSURIY 100%
Eikws JALY IL—T 100%
F£1 ANAY JL—T 99%
OEIBEHE
RS e =4t PBBfF A&
FH JALT )L—T 100%
FH ANAY IL—T 100%
FH YSURIT 100%
ibw JALY L—T 100%
F £ ANAY JL—T 98%
& [ JALY L—T 100%
& il ANAY JL—T 100%
12 AVIRILIFTI)D 92%
OEREZEE
iR fize &4t PBBfE AE
FIH JALT )L—T 100%
FH ANAY JL—T 100%
JF1H AHAI—Y 91%
FH YSURIT 100%
&8 ANAS JL—T 100%
b &R DIV RE— TRy 97%
&R AHAI—YH 69%
b &R VYSURIT 95%
#1 JALY L—T 100%
#T ANAY JL—T 100%
EES JALY L—T 98%
=/E ANAI—4 69%




(OF:\F ko]

R AR fZestt PBBfERE
FIH JALZ JL—T 100%
FIH ANAYS JL—T 98%
JF1H ADhAI—Y 96%
JF1H YSVRIT 0%
oAz ANAY JL—T 98%
RH Peach* Aviation 43%
oAz DIy RA— vy 82%
okl JALZ JL—T 100%
g ANAY JL—T 83%
okl DIYRRE— TRy 36%
g AHAR—4 83%
okl YSURIT 72%
# JALY IL—T 97%
#1 ANAY JL—T 95%
E3Fi] JALY IL—T 90%
BE PR ANAG JL—T 90%
[E3Lic] Peach - Aviation 54%
ESEi] CIyhRE— DNy 76%
#HE ANAI—Y 83%
i YSURIT 97%
& ] JALY L—T 99%
& [ ANAY JL—T 98%
& ] Peach* Aviation 96%
B ] ANAI—Y 94%
Bd JALY IL—T 97%
=1 ANAZ JL—T 85%
FAiE JALY IL—T 95%
Al ANAY )L—T 95%
AiE YSURIT 79%




[R2.2]

TR et PBB{f %=
= JALT )L—T 84%
= ANAY )L—T 83%
Bl Rl JALY IL—T 96%
Je Lo ARA—D054 ¥ — 91%
=2 JALY )L—T 100%
=2 ANAY )L—T 99%
il RB—T54 ¥ — 74%
il AHA<T—H 90%
RIG JALY )L—T 95%
RIKG ANAY )L—T 97%
RIKG YSLRIF 90%
R JALY )L—T 99%
RBEX ANAYG JL—T 82%
REX YSURIF 86%
PN JALY IL—T 90%
PN ANAY JL—T 85%
PN YSVRIT 94%
= I3 JALY )L—T 75%
= I3 ANAS )L—T 73%
= YSVRIT 88%
BERE JALY )L—T 98%
BERE ANAY )L—T 74%
BRE AHAT—H 94%
BRE YSURIF 90%
AR JALY IL—T 100%
AR ANAY JL—T 95%
AR ABA<—Y 97%
AR YSVRIT 94%
= JALY IL—T 100%
= ANAY JL—T 90%
;AaiE JALY )L—T 100%
aiE ANAY )L—T 96%

OFHZEHR
PRAR fzE 4t PBB{# ®=
Al JALY IL—T 68%
Al AIRDO 72%
JBJII JALY IL—T 100%
JBJI| AIRDO 74%
Il E% JALY )L—T 70%
Il E% ANAY JL—T 81%
Il E% AIRDO 88%
Gl JALY IL—T 94%
Wik AIRDO 51%
T JALY IL—T 100%
Tk ANAY JL—T 99%
T AIRDO 78%
T AHAT—Y 91%
ERIEE JALY IL—T 79%
ERIEE ANAY JL—T 81%
ERIEE AIRDO 86%
A H JALY )L—T 97%
A H ANAY JL—T 84%
I JALY IL—T 90%
I ANAY JL—T 79%
aaksi JALY )L—T 95%
h ANAY JL—T 91%
F51 JALY )L—T 100%
F51 ANAY JL—T 100%
E3li] JALY )L—T 82%
E3li] ANAY JL—T 93%
Eakif] ARB—T54¥— 60%
HE ANAYG JL—T 93%
#HE AHA<T—4 89%
i L JALY IL—T 93%
it L ANAY JL—T 91%
IN=] JALG JL—T 95%
IN=] ANAYG JL—T 89%
WAFE JALT IL—T 73%
WAFE ANAY JL—T 81%
WAFE & e e 83%
=i JALG JL—T 83%
=i ANAYG JL—T 67%
mE JALY IL—T 98%
= ANAY JL—T 69%
NIl JALT IL—T 91%
NIl ANAY JL—T 93%

OFTHRESE
BRHR fZEait PBBfEFE
HH JALT JL—T 100%
FH ANAY JL—T 100%
A AIRDO 100%
FIH AHA<—H 99%
2Rl JALY IL—T 98%
2Rl ANAY JL—T 84%
H JALY IL—T 84%
H ANAY JL—T 59%
A JALY )L—T 99%
A ANAS JL—T 75%
& JALY IL—T 100%
& ANAY JL—T 94%
& AIRDO 100%
& Peach*Aviation 51%
& FARNYIRAITSA R 0%
g JALY IL—T 76%
g ANAY JL—T 94%
Ak H JALY )L—T 100%
Ak H ANAS )L—T 100%
Ak H Peach* Aviation 88%
A H DIYRRE—T¥IN 89%
A EUMZER 82%
&R JALY IL—T 100%
ek ANAY JL—T 100%
ek AIRDO 100%
ek DIYRRE— T\ 71%
ek IFTFOT OxIN\v 59%
ek ABAI—Y 75%
#t JALY )L—T 100%
#t ANAS )L—T 100%
3] JALY IL—T 100%
3] ANAY JL—T 100%
i) Peach*Aviation 77%
3] DIV RE—DpIR 31%
#HE ANAYG JL—T 100%
#HE AIRDO 78%
#HE AHA<T—H 83%
LE JALY )L—T 100%
LE ANAY JL—T 100%
12 JALY )L—T 100%
& fif] ANAY JL—T 100%
& i Peach* Aviation 98%
& fif] AHhAI—Y 50%




Ofllzgze &

BRAR fZe &4t PBB{# ®=
FIH JALG JL—T 100%
FH ANAY JL—T 100%
FIH AIRDO 100%
OEEZEE
iR szt PBB{# R %=
FIH JALT )L—T 100%
FH ANAY JL—T 100%
FIH AIRDO 100%
F51 JALY IL—T 100%
F51 ANAY JL—T 100%
OHiBEHE
PR st PBB{# R =
FT=E JALG IL—T 100%
i ANAYG JL—T 82%
F51 JALY )L—T 100%
#1 ANAY JL—T 95%
(Eibs FARYIGRAIFTSA R 100%
126 ANAY JL—T 98%
126 FARYIGRAIFTSA R 100%
12T 7Y NY=LITFAVR 100%
O/ ZE;
PR izt PBB{# R =
FIH JALT )L—T 100%
FH ANAY JL—T 100%
{2 ] ANAY )L—T 100%
{2 ] FARYIGRAIFTSA R 98%

OLBZEE

TR fiZestt PBB{f %=

FIH JALG JL—T 100%

FH ANAY JL—T 100%

T JALY )L—T 100%
T ANAY JL—T 100%

R H TFARYHRAIFTSAV R 97%

R H EUMZEER 100%
ORBZEHE

BRHR fnzesit PBBfEAE

FIH JALD )L—T 100%

FH ANAY JL—T 100%
Odb L ZE;

BRAR fze st PBB{§ A%

HH JALG IL—T 100%

FH ARA—D054 ¥ — 100%
Ol ZE;

iz finze =1t PBB{#H=

HH JALG IL—T 100%

FH ANAY JL—T 100%

#1 JALY )L—T 100%

#1 ANAS )L—T 33%
OEsnz#

BRI fze st PBB{§ A%

HHA JALG IL—T 100%

FIHA ANAYG JL—T 100%
OXR»ZE;

XA fnzest PBBf{

FHE JALG IL—T 100%

FH ANAY JL—T 100%

FHE YSURKIF 100%

#1 JALY )L—T 100%

#1 FARYGRIFTSAV X 0%

ORIBZEHE
TR fizestt PBB{f &
HH JALT JL—T 100%
FH ANAY JL—T 100%
A YSLRIF 100%
F JALY IL—T 100%
F ANAY JL—T 100%
ORERZHE
BRHR finzesit PBBfEFE
HH JALY )L—T 100%
FH ANAY JL—T 100%
FH YSURIT 100%
F JALY IL—T 100%
#t ANAS )L—T 99%
OEIFZEHE
R R fZest PBB{f %
HH JALG IL—T 100%
FH ANAY JL—T 100%
FH YSVRIT 100%
F JALY )L—T 100%
FFE ANAY JL—T 98%
120 JALY IL—T 100%
120 ANAY JL—T 97%
12 AVILBLITI)YD 91%
OERREZEE
R R fzest PBB{# R %
HH JALT IL—T 100%
FH ANAY JL—T 100%
FIHA AHA<T—H 94¢%
FH YSURIF 100%
ekl ANAS JL—T 100%
ekl DIYRRE—DwIy 100%
ekl AHAI—H 80%
ekl YSVRIT 97%
F7 JALY )L—T 99%
#t ANAY )L—T 100%
TE JALG JL—T 99%
TE AHAI—H 81%




OMEZE?

iR et PBB{#®=
FIH JALG )L—T 99%
FH ANAY JL—T 97%
FH ANAT—1 97%
JIH JYSURIT 38%
B H ANAY JL—T 79%
. H Peach* Aviation 49%
. H DIYRRE—- DNy 99%
FEp JALY )L—T 97%
FEp ANAY JL—T 89%
FEp DIYRRE—- DNy 37%
FEp AHA<T—H 84%
FEp YSURIF 72%
F51 JALY IL—T 100%
F51 ANAY )L—T 100%
EaFif] JALY )L—T 90%
EaFif] ANAY JL—T 95%
5[] Peach* Aviation 59%
EaFif] DIYRRE— T\ 93%
#HE AHAT—1 84%
HE YSVRIT 96%
126 JALY )L—T 99%
i ANAY JL—T 98%
2 ] Peach* Aviation 75%
{2 ] ANA4T—H 96%
=) JALY )L—T 95%
=) ANAY )L—T 89%
Al JALY )L—T 94%
#AiE ANAY )L—T 96%
AiE YILVEIT 73%




[R2.3]

iR fizesit PBB# R =
=0 JALZ)L—T | 8% |
= ANAG )L—T 90%
Jt L JALY JL—T 95%
dt Ui ARE—D054Y¥— 90%
12 JALY )L—T 100%
12 ANAY J)L—T 99%
12 ARA—T54¥— 76%
12 2AHA<T—H 93%
K% JALY )L—T 95%
K% ANAY J)L—T 98%
K% VYSLURIT 90%
HER JALY )L—T 98%
BER ANAG JL—T 84%
BER YSURITF 90%
PN JALY JL—T 89%
PN ANAY JL—T 80%
PN YSURIT 96%
= 1% JALY )L—T 74%
= 1% ANAS JL—T 78%
= 5 YSURIT 91%
BERE JALY )L—T 98%
BERE ANAS J)L—T 81%
BERE AHLT—H 92%
BERE YSURIT 88%
B JALY JL—T 100%
B ANAY JL—T 95%
B ANAI—Y 97%
B YSURIT 95%
=01 JALY JL—T 100%
=01 ANAY JL—T 86%
$RiE JALY )L—T 100%
FaiE ANAS JL—T 98%

OFHZEH
RS et PBB{# &
ZiE Al JALT JL—T 81%
Zi Al AIRDO 54%
JBJII JALY IL—T 97%
JEJI AIRDO 70%
Il % JALY L—T 85%
Il % ANAS JL—T 82%
1% AIRDO 96%
Gl JALY L—T 91%
Gl AIRDO 63%
T JALY IL—T 100%
T ANAYG JL—T 98%
T AIRDO 82%
T i AHAR—4 92%
EREE JALY IL—T 88%
ERIEE ANAY JL—T 89%
BRIER AIRDO 85%
A JALY L—T 97%
A ANAY )L—T 73%
N JALY IL—T 91%
N ANAY JL—T 92%
ek JALY )L—T 79%
aaksi ANAY JL—T 95%
F JALY )L—T 100%
#1 ANAS )L—T 99%
E3Fi] JALY L—T 98%
E3Fi] ANAS )L—T 95%
E3Fi] RA—054 ¥ — 63%
#HE ANAYG JL—T 92%
#HE AHhA<T—H 90%
it 11 JALY IL—T 93%
fif] 11 ANAY JL—T 86%
Nz JALY JL—T 96%
Nz ANAY JL—T 88%
=g JALY JL—T 75%
=g ANAY JL—T 86%
=g RA—T54¥— 80%
= JALY JL—T 81%
= ANAY JL—T 90%
e JALY JL—T 96%
e ANAS JL—T 71%
NIl JALY )L—T 93%
NIl ANAY JL—T 91%

OHFTHREE
g et PBB{f %
FIH JALZ)L—T | 100% |
FH ANAY JL—T 100%
FIH AIRDO 100%
FIH AHA<—H 99%
Al JALY IL—T 99%
Al ANAY JL—T 90%
=5 JALY IL—T 91%
=5 ANAY JL—T 58%
FE JALY )L—T 94%
FE ANAS JL—T 85%
& JALY IL—T 100%
& ANAY JL—T 98%
& AIRDO 100%
= Peach*Aviation 55%
& FARNYIRAITSA R 0%
s JALG IL—T 85%
s ANAG JL—T 97%
H JALY )L—T 100%
A ANAS )L—T 100%
A Peach* Aviation 97%
H DIYRRE—T¥IN 91%
A EUMZER 68%
&R JALY IL—T 100%
b ANAY JL—T 100%
b AIRDO 100%
b DIYRRE— T\ 78%
b IFTFOT OxIN\v 64%
b ABAI—Y 85%
#1 JALY )L—T 99%
F51 ANAS )L—T 100%
E3kii] JALY IL—T 100%
E3kii] ANAY JL—T 98%
E3[if) Peach*Aviation 78%
E3kii] DIV RE—DpIR 62%
HE ANAYG JL—T 100%
HE AIRDO 87%
HE AHA<T—H 87%
IN=] JALG JL—T 100%
LB ANAYG JL—T 100%
{5 5] JALY IL—T 100%
& fif] ANAY JL—T 100%
& Peach* Aviation 95%
5 [ AHhA<T—H 61%




ORIGZ#

(OF ] iz ek
Big fizestt PBB{# &
FIHE JALT JL—T 100%
FH ANAY JL—T 100%
FIHE AIRDO 100%
OHEEZEHE
iz =l PBB# R =
HH JALT )L—T 100%
FH ANAY JL—T 100%
A AIRDO 100%
F JALY IL—T 100%
F1 ANAY JL—T 100%
OFinZE
BRiR Mzt PBB{# R =
T JALT IL—T 100%
HTE ANAG JL—T 69%
F JALY IL—T 100%
# ANAY )L—T 90%
F1 TFARNYIRITSA R 99%
128 ANAY JL—T 94%
128 TFARNYIRITSA R 100%
128 7Y N=LITFAVR 100%
O/ ZeE
B izt PBB# R =
HH JALT IL—T 100%
A ANAY JL—T 100%
128 ANAY JL—T 100%
128 TFARNYIRITSA R 100%

OLBZEHE
iR fizesit PBB# R =
FIH JALG )L—T 100%
FH ANAY JL—T 100%
FT% JALY L—T 100%
T % ANAY JL—T 100%
Az FARYIRAITSAV X 98%
Az EUMZEER 100%
OfEEZTH
ERER =l PBB{# &
FH JALG )L—T 100%
FH ANAY JL—T 100%
Odb o ZE;
o Zest PBB{# R ®=
FIHE JALG )L—T 100%
FHE ARE—D054v¥— 100%
oMLz
o Zest PBB{# R ®=
FIHE JALG )L—T 100%
FH ANAY JL—T 100%
F JALY )L—T 100%
#1 ANAS )L—T 40%
Oz #
o Zest PBB{#R®=E
FIH JALG )L—T 100%
FH ANAY JL—T 100%
OXRRZE}
iz RZEStt PBB{#R®=E
FH JALG )L—T 100%
FH ANAY JL—T 100%
PFH YSURIY 100%
F JALY )L—T 100%
# FARYIRIFTSAV R 10%

g et PBB{f %
FIH JALT JL—T 100%
FH ANAY JL—T 100%
FH VYSURIT 100%
F51 JALY IL—T 100%
F51 ANAY JL—T 100%
OREARZEE
g iz =2t PBB{# %=
FIH JALY )L—T 100%
FH ANAY JL—T 100%
FH YSURIT 100%
F51 JALY IL—T 100%
F51 ANAS )L—T 100%
OEIFZEHE
iz %t PBB{# =
FIH JALG IL—T 100%
FH ANAY JL—T 100%
FH YSVRIT 100%
F51 JALY )L—T 100%
Eibs ANAY JL—T 99%
{2 ] JALY )L—T 100%
{2 ] ANAS )L—T 100%
{2 ] AVILBLITI)YD 98%
ORREZEHE
PR e =1t PBB{# =
FIH JALT IL—T 100%
FH ANAY JL—T 100%
FIH AHA<T—H 99%
FH YSURIF 100%
aakil DIV RE—DwIRY 98%
aakil AHAI—H 99%
aakil YSURIF 100%
F51 JALY )L—T 98%
#1 ANAY )L—T 100%
EoES JALG JL—T 94%
EoES AHAI—H 99%




OMHF=#E

Big et PBB{# &
FIHE JALT JL—T 100%
FH ANAY JL—T 95%
FIHE AHA<R—H 98%
FH VYSLURIT 59%
A H ANAS JL—T 75%
A H Peach* Aviation 86%
A H DIYrRE— T\ 77%
&R JALY L—T 97%
&R ANAS JL—T 95%
&R DIYRRE—TxIN 70%
&R 2AHA<T—H 88%
&R YSVRIF 77%
F JALY )L—T 100%
# ANAY )L—T 99%
£l JALY L—T 81%
£l ANAS )L—T 99%
E3Lid] Peach* Aviation 44%
£l DIYRRE— T\ 79%
#HE AHAT—1 91%
HE YSURIF 98%
128 JALY IL—T 99%
128 ANAY JL—T 95%
126 Peach*Aviation 95%
12 AHhA<T—H 95%
128 VYSVRIT 67%
Bo JALY IL—T 91%
BEd ANAS )L—T 84%
HAaiE JALY L—T 85%
HAaiE ANAS )L—T 93%
$AE VYSVRIT 76%




